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Multiple choice(2 points for each)
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Which one of the following events has GNP decreased? (A) Jonny originally bought a stock with $105, but
now sells it with $55 in a rush for cash. (B) Mary quitted a job to become a full-time housewife. (C) Wang
ordered a paint for $100,000, but sells it later for $300,000. (D) A local government subsidizes pig farmers 20
million dollars for the prevention of a disease. (E) A construction company builds 10 villas, but none of
them sold.

Which one of the following events makes GDP to overestimate the economic welfare? (A) an improvement
in the quality of the environment (B) an expansion in the scale of underground economy (C) an increase in
the quality of goods and services (D) a destruction of the lake and mountain scenery made by the
earthquake (E) family services increased by the housewives.

Which of the following would increase the money multiplier? (A) an increase in the currency to deposit

ratio. (B) a decrease in deposits by the public. (C) a decrease in the currency to deposit ratio. (D) a decrease
in Federal Reserve note in circulation.

During the recession, the Central Bank could take which of the following measures? (A) reduce the

discount rate (B) depreciate the New Taiwan Dollars (C) compensate their interests when people buy
houses (D) all of the above.

Compared to the multiplier in a closed economy, that number in an open economy would be? (A) large (B)
small (C) sometimes large, sometimes small (D) uncomparable.

Assuming that the population of country A is 1.5 million whose age is over 15, that of the labor force is 1.1
million, and that of the total employment is 0.99 million, then the umemployment rate is? (A) 7.33% (B)
26.66% (C) 11.11% (D) 10%. |

When people develop a more intense desire to hold cash at every level of the interest rate, there will be? (A)
a movement in both the LM and LS curves (B) a movement up along the LM curve (C) a shift in the LM
curve to the right (D) a shift in the LM curve to the left.

The real rate of interest is: (A) interest rate minus the rate of inflation (B) rate of inflation minus the interest
rate (C) interest rate minus the internal rate of return (D) interest rate plus the rate of inflation.

Which of the following production function is of increasing returns to scale?(where x1,x2, and q=0) (A) g=10
—1/x1—1/x2 (B) g=10In x:+10In x2 (C) g=100 x1 x2—5 x12—10 x2? (D) g= x1"2+ x212.

A firm will shut down in the short run if? (A) it is suffering a loss. (B) fixed costs exceed revenues. (@)
variable costs exceed revenues. (D) its total costs exceed revenues. (E) all of the above.

A production isoquant identifies? (A) The maximum output possible given fixed budget (B) the different
combinations of goods that can be produced, given fixed amounts of inputs (C) the different combinations
of inputs that can be used to produce a fixed level of output (D) none of the above.

Assuming that the tea shop in Kaohsiung is in a perfect competition market, the short-run marginal cost
among 100 of them is MC=2qg+5. If these tea shops can operate in a short run, the market price should be
higher than? (A) $3 (B) $4 (C) $2 (D) $5.

Assuming that a monopolistic competition firm lies in a long-run equilibrium, then where it possibly
produce? (A) AFC=MR (B) P=LAC and P=LMC (C) P=LAC and P>LMC (D) LAC=MR.

There is 365 days in a year. The wage of a day is $1000. Consumers can only choose one product priced at
$5000. If X denotes the number of leisure days, Y denotes the amount of the product consumed, and the
utility function of the consumer is XY, how many days does the consumer work in a year? (A) 68 days (B)
182.5 days (C) 314 days (D) 294 days.

Which one of the following is incorrect? (A) The total asset of each company is a concept of “stock”. (B) The
yearly operational income of each company is a concept of “flow”. (C) The earnings per share of each
company is a concept of “stock”. (D) The net worth per share of each company is a concept of “stock”.
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What shape of supply curve does not have any producer surplus? (5 points)

There are only three persons in a society. Their income is 2, 4, and 6, respectively. Then what the Gini
coefficient is? (5 points) '

Why will it increase the money supply if the Central Bank purchases bonds from commercial banks, but it w1H
not be so for Tatung Co. doing the same? (10 points)

C=50+075(Y —T)— 10R, I =300 — 20R, G = 400, T = 200+ 0.3Y, L = 0.4Y — 20R, (M/P) = 300
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(1) 3REABLEE B & F & A -F 8 5 (fair game)? (5%)

(2) a2 imibBE B 2 B7 ¥ 2 A (expected utility) & 47?7 (5%)
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